Hill October 11, 2014

Unsigned 8-bit Average of 3 numbers

Given variables A, B, and C; each holding an 8-bit unsigned number. Write a program to find the
average of A to C, placing the result into variable D.

D=A+B+C/3

Allow for a 16-bit interim sum and result.

AVgABC Watch

|=> clr rl Name Value Type Location
lds r0.4 A 0x34 '4' SRAM Locat: 0x0100 [SRAM]
'fé; ig 5 B 0x78 'x' SRAM Locat: 0x0101 [SRAM]
S b c 0xBC '%' SRAM Locat: 0x0102 [SRAM]
lds r4.C D 0x00 '° SRAM Locat: 0x0103 [SRAM]
add r0,r2
adc rl.r3 .
2 =1 ok Data v| [8/16] [abc] Address: 0x100
adc rl.xS | |000100 34 78 BC 00 00 00 00 00 00 00 00 00

Figure 1 Start of unsigned 8-bit Average program with variable A initialized to 0x34 (521),
B initialized to 0x78 (1205,) and C initialized to OxBC (188)-

add ru.ré ol ———————
adec rl.rS Watch

-1 Name Value Type Location
0x34 '4' SRAM Locat: 0x0100 [SRAM]
0x78 'x' SRAM Locat: 0x0101 [SRAM]
0xBC '"%' SRAM Locat: 0x0102 [SRAM]
0x78 *x° SRAM Locat: 0x0103 [SRAM]

1di »16.3 ; ¢
nov r3,rle6
rcall Div8 ; «

DN W

sts D,rd
[ rinp AvgiBC

/% Div8 —
* Q = N/D Divide | |[Data v| [8/16] [abc)| Address: 0x100

* input

2 ﬁ = Numerato: — 000100 34 78 BC 78 00 00 00 00 00 00 00 00 00 Of

Figure 2 End of unsigned 8-bit Average program with variable D containing 0x78 (120i)-
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